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Problems:
3.2.1¢) and d)
322
3.2.4 b) and c)

R@p | 1*+1*0(11*0)* 11*

R®@, | 1*0(11*0)*

R@;; | 1*0(11*0)*0

R®, | (11*0)*11*

R(Z) - ( 11* 0)*

R@ | (11*0)*0

RP; | 1(11*0)*11*

R@,, | 1(11*0)*

RP5; | ¢ +0+1(11*0)*0

3.21d)
R® 1= R@ 1+ R@ 13 (R(2)33)* R(2)33
=1*0(11*0)*0 + (1*0(11*0)*0)( ¢ +0+1(11*0)*0)* ( ¢ +0+1(11*0)*0)
=(1*0(11*0)*0) (0+1(11*0)*0)*



R(O) 1 P
R(O)12 0
R(O)13 1
R(0)21 0
R(0)22 P
RO,, 1
R(O)31 1

R© - 0

R(O) - ¢
3.2.2b)

RYy | ¢

R(l)12 0

RW 3 |1

R(l) , |0

R®,, | & +00

R, | 1+01

R(1)31 1

R®s, | 0+10

RO | e +11

3.2.20)

RPy; | ¢ +0(00)*0
R@, | 0(00)*

R®;; | 1+0(00)* (1+01)
R®; | (00)*0

R(2)22 (00)*

R@, | (00)*(1+01)
R@3, | 1+( ¢ +1)00(00)*
R@3, | (0+10)(00)*
RP5; | ¢ +11+(0+10)(00)* (1+01)




3.2.24)
R® 3= R 15+ RP13 (RP5)* R¥3
—{1+0(00)* (1+01)}-+{ 1+0(00)* (1+01)}
{ ¢ +11+(0+10)(00)* (L+OL)}*{ ¢ +11+(0+10)(00)* (1+01)}
—{1+0(00)* (1+01)} {11+(0+10)(00)* (1+01)}*

3.2.26)

Eliminating (2
00 01
1+01 R
(o (@)

1+00

Regular Expression = {00+(1+01)(01)* (1+00)}* (1+01)(01)*



3.2.4b) (0+1)01

3.2.4 ¢) 00(0+1)*




